ImAoC
K

BJ211 EIR AR LES

- BB
M1 P EBET RS =R

(FrAERY) (z5/ )
(FRAERD) (Fg/hEY
BJ211-*+01] (/R
B8 Mo | LlH|W| M | H|H i%

BJ211-08001 | M 8x1.25| 40 | 56 | 13 M 8X1.25| 48 | 40 | 60
BJ211-10001 | M10X1.5 | 50 | 70 | 17 [M10X1.5 | 60 | 50 | 120
BJ211-12001 | M12X1.75] 60 | 84 | 19 [M12X1.75| 72 | 60 | 190
BJ211-16001 | M16X2 80 | 112 | 24 |M16X2 96 | 80 | 410

BJ211-**11] (55/\8Y)
B 5 M L|H|W M Hi | He

RE
(g)
BJ211-08011 | M 8X1.25| 40 | 36 13 M 8X125| 28 | 20 45
BJ211-10011 | M10X1.5 | 50 | 45 17 |M10X15 | 35 | 25 90
BJ211-12011 | M12X1.75| 60 | 54 19 |M12X1.75| 42 | 30 | 140
BJ211-16011 | M16X2 80 | 72 | 24 |M16X2 56 | 40 | 310

£ H A BIRER 7 %

R RE

BJ530

EKIBE
BJ610

RIIRE |
BJ753 Lo
BJ754 [ ]

WA A THRE.




